SIMPLE BUT FIT FOR PURPOSE

g//quI.nt People Oriented,Innovation,High Efficiency

XIAMEN HQ MOUNT TECH. CO.LTD

Installation Manual

Q. Tell/Fax:+ 86 0592 6252889 @& Web:www.hgmount.com

& Email:info@hgmount.com @ Add:Building No.1, Jimei Xinglin Bay Operations Center,
Xiamen,China 361000




i7/gmowunt

XIAMEN HQ MOUNT TECH. CO_LTD.

—. System Compositions

People Oriented,Innovation,High Efficiency

Components List

1. Pre-assembled

Mounting System

5.End clamp

6. Inter clamp

7.Right Angle Bolt

8.Hexagon bolt
M16X150

Q. Tell/Fax:+ 86 0592 6252889 @& Web:www.hgmount.com

& Email:info@hgmount.com @ Add:Building No.1, Jimei Xinglin Bay Operations Center,
Xiamen,China 361000




‘I/qm u1t People Oriented,Innovation,High Efficiency

SIMPLE BUT FIT FOR PURPOSE

XIAMEN HQ MOUNT TECH. CO_LTD.

—.Installation Instructions

1. Prepare

1.Used tools to mark
the location, marking
the embedded position
of each cement
foundation, then the
cement foundation was
poured (according to
the size of drawing),
and the right angle
bolts head was

The right angle bolts

exposed 60mm

exposed for 60mm

2. When a  cement
foundation is
embedded, it must be
ensured that the end
face of cement
foundation is on the
same line and
height. The span of
each cement
foundation shall be
determined according

to the size of drawing

Ra Tell/Fax:+ 86 0592 6252889 @& Web:www.hgmount.com

4 Email:info@hgmount.com @Add:BuiIding No.1, Jimei Xinglin Bay Operations Center,
Xiamen,China 361000



file:///C:/Program%20Files%20(x86)/Youdao/Dict/8.5.1.0/resultui/html/index.html
file:///C:/Program%20Files%20(x86)/Youdao/Dict/8.5.1.0/resultui/html/index.html

4§ People Oriented,Innovation,High Efficienc
o/,qmomt - - -

SIMPLE BUT FIT FOR PURPOSE

XIAMEN HQ MOUNT TECH. CO_LTD.

1.As shown 1in the
right picture, put

the base which is in

the pre—assembled
mouting on the
embedded cement

foundation and lock
it preliminary with
M20 hexagon bolt, M20
spring, M20 washer
and gasket.

2. Second, used the
same way to install
all the base on the
embedded cement

foundation.

Q. Tell/Fax:+ 86 0592 6252889 @& Web:www.hgmount.com

& Email:info@hgmount.com @Add:BuiIding No.1, Jimei Xinglin Bay Operations Center,
Xiamen,China 361000




‘I/qm u1t People Oriented,Innovation,High Efficiency

SIMPLE BUT FIT FOR PURPOSE

XIAMEN HQ MOUNT TECH. CO_LTD.

3. Expand the

pre—assembled

mounting system and
install other
columns , connect
them with the M16%150
hexagonal bolt and
M16 flange nut, and

lock them preliminary

4. Next, install the
pre—assembled
mounting on the base,
connect it with
M16%150 hexagon bolt,
M16 flange nut and
gaskets, then lock

them preliminary

5.Finally, please
ensure the
pre—assembled
mountings in the same
line, and lock them
tightly.

Ra Tell/Fax:+ 86 0592 6252889 @& Web:www.hgmount.com

4 Email:info@hgmount.com @Add:BuiIding No.1, Jimei Xinglin Bay Operations Center,
Xiamen,China 361000




People Criented,Innovation,High Efficiency

Q‘I,qmomt

SIMPLE BUT FIT FOR PURPOSE

XIAMEN HQ MOUNT TECH. CO.,LTD.

Before installing the

rail, please confirm Rail
the length of the
required rail. If the
length is not enough,
connect with the

splice for rail.

1. Insert the splice
for rail into the

rail. After adjusting

the position, use
eight self-tapping Splice for Rail
screws (four on each
side of the rail) to
securely lock. (16

screws total.)

2. Connect another
rail in the same way
as above, and connect
it as shown on the

right.

Q. Tell/Fax:+ 86 0592 6252889 @& Web:www.hgmount.com

& Email:info@hgmount.com @Add:BuiIding No.1, Jimei Xinglin Bay Operations Center,
Xiamen,China 361000




(I)quU‘It People Oriented,Innovation,High Efficiency

SIMPLE BUT FIT FOR PURPOSE
XIAMEN HQ MOUNT TECH. CO_LTD.

3.Place the rail on
the beam, and adjust
the position
according to the size
of drawing, as shown

on the right

4.Use the rail clamp
to fix the rail on the
four-slot beam and

ensure locking well.

Notice:
‘ Four-slot Beam
The rail clamps are
two on each side of

the rail.

5. Repeat the above
step and install the
remaining rail
according to the
design

drawings. Please keep
the end of each

rail (marked with red

line)

Q. Tell/Fax:+ 86 0592 6252889 @& Web:www.hgmount.com

% Email:info@hgmount.com @ Add:Building No.1, Jimei Xinglin Bay Operations Center,
Xiamen,China 361000




'i'/qmou‘lt People Oriented,Innovation,High Efficiency

XIAMEN HQ MOUNT TECH. CO.LTD

4. Install solar panel

1. Install the solar
panels from one end of
the rail to the other
as the design

drawings.

A: End clamp B: Mid clamp

2. Use the end clamp to
fixed solar panel,
the two solar panels

are fixed by mid

clamp.

3. Complete the
installation, the
overall effect is as

shown on the right.

Q. Tell/Fax:+ 86 0592 6252889 @& Web:www.hgmount.com

& Email:info@hgmount.com @ Add:Building No.1, Jimei Xinglin Bay Operations Center,
Xiamen,China 361000




	二.

